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V QUESTION SET CODE

A CODE : PCCSSB-9/18

WRITTEN TEST QUESTION PAPER

Maximum Marks : 35

Time : 45 minutes

Instructions for the candidates :
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Each question carries 1 (one) mark.
For each correct answer, 1 (one) mark will be given.

The qualifying marks for written test for all the candidates belonging to UR and SEBC is
14 marks and that of SC & ST is 12 marks out of total 35 marks.

There is no minus marking or negative marking for any wrong answer.
No mark will be deducted if any question is not attempted.
In each question, only one out of the four alternative answers is correct.

Find out the correct answer from the four choices given below each question and darken the
appropriate circle against the question number in the OMR answer sheet using black/blue

pen only.
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Fill in the blanks with a

ppropriate words from the options given below for next two
Questions - :
%gbyou — .+ ____ shall you reap.
v @ SOow, so B) see, saw
C) look, reflect | D) read, study
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< A chain is as strong as its link.

/ strongest ¢ | B) medium

C) last D) weakest

3. What is the synonym of ‘unwavering’?
| /:j Shaky ' ' B) Stable
Uncertain D) Wobbly
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Fill in the blanks with appropriate words from the options given below :

iy

4. Acouple hék hotel in the morning.
/ /A) checfge/d in | _ » | checked om( .
C) checked about ‘ D) checked on

e 5 ,::,‘ decided to ___ organic farming. _ ;

/ A) ,fake about B) take of
/@ fake up , | D) take in
8. He is one of my teachers _...I-have known for 4 very long time.
< A who npe R whom
. C) whose \}NhICh
2A




Choose the correct answer :

7. What is the synonym of ‘entertainment'?

.a;)z? Amusement - B) Bore /

C) Music ' @ Television

ybeﬂciency of which Vitamin causes ‘Beri Beri’ disease?

A) Vitamin A @ Vitamin B ~—

Ao C) Vitamin D

D) Vitamin K
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S/Who presided over the first conference of the Indian National Congress?
B) Mahatma Gandhi -
D) None of them

1o/wﬁch is the first Indian Satellite?
A) “Roffini -~ ;.

C) Bhaskar’

D) Aryabhatta-1+———

\

11. Who was; the second PreS|dent of India?

/ A) Dr. Zakir Husain B) SH. V.V Giri

/C) Sri. N. Sanjiva Reddy @" Dr. S. Radhakrishnan ~——_
- "
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?/Whlch river is called the sorrow of Blhar?

A) Gandak B) Ganga
' C) KOShI . @ Budi Gandak
13. Upper indrévati Hydroelectricity Project is situated in which district?
A) Bargarh ‘ B) / Mabarangpur
W C) * Kalahandi : D) Bola\ngir
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14. Baltarani River originates from which Source?

: @ dhar
/A)/ Gonasika Kandha

C) Barbj D) Nayakote
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18. Mens Hockey World Cup, 2018 wnll be held in which city?
A)  Mumbai ) New Delhi
C) Chandigarh ' I':)) Bhubaneswar i
b il rv, /’ (/’\\ J
16. ‘Thick' is related to thin’, in the same way ‘idle’ is related to
A) virtuous | J actlve \/ Q/
C) /i“ndustrio(‘usA | | D) busmess =
17/'5/electdthe related letters from the alternatives given from the options :
| MIKE : OGMC :: CIAD : 7
/ @EGCB it < B) AJCT o
C) ENCF B iiohs ‘ D) Elce /\-»\/\, A C/ :
A - Ty A
Ind the odd letters set from the given alternative.
gt ens i SR A A Y §
GILPU | B CEHL@(// pol €
A ] ] Lk o e
C) DFIMR’ D) HIMPT vy %
i
19. hat should come |n the place of question mark (?) in the followmg'?
5 35
P 3
/A) 7/749 B) 9745 N’W\\KE
D) 3:24 O (o WA C
What should come in the place of question mark (?) in the following?
~ Odisha : India ::*Texas : ? |
L | ct @l
A) Canada - + B) Mexico ,0
\ﬁ@ USA it ‘ D) Tanzania 5 EZ O—)
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21. How many minutes will the minute hand take to move from 12 to 77

~ _~A) 30 minutes B) 25 minutes

% \/ :
@35 minutes D) 40 minutes

22, Riya brought 5 kg of mangoes. She gave 800 g to her maid and 1 kg 300 g to her
neighbour. How much of mangoes are left with. her? (

A) 2kg 900 g( " 2 kg 800 g
“/,\c:) 1 kg 800 g D) 2kg 600 g

fthe day before yesterday was Friday, then what day will two days after the day after
tomorrow be? N D

| o |
%A) Wednes._.d‘a)l/ , B) ThUréday “ o
C) Friday . @ Saturday ' -\/f‘:%,
\C °
sum of the first five prime numbers is TeChOfWO rld ; I N e
11 3 'B) 18 | 5000
‘ a\D
C)’ 25 D) 28 %A D0
Ag . SR, - A [ 5O
- Which number is nearest to 457 -which is_divigible by 11? , ) ,
A) 4627 ' 51 .
C) 450 D) 460 -

26. The average consumption of diesel for a car for 7 months is 110 litres and for next
5 months it is 86 litres. The average monthly consumption is ~

3}
A) 96 litres B) 98 litres IR Mg~ j/

/@100 litres D) 102 litres 9’”"“,{ )

~ 27. The ratio between two numbers is 2 : 3. If the second number is’ 24, then the first -

number is ~—— | ‘: 9 @i’i& 5 “vgt
A) 36 | ’ @ 48 W = 2N
c) 167 ' ‘D) 60 g S & ',V%”\' ./
f = - : F 2 gk,
- 28. 150% of 15+75% of 75="7 g e N >
Vi ; ; ] T\ ‘o N A%é
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3 C) 135 , D) 7675 %ﬁgﬁ»ﬂ ,,-—(—Ué-\
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A) JgiQIe B) m'qa
,\/@5@, D) ueRde
.30, Qg e |
/@qa ) ~ B) @

C) awkaa— " D) am
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